Easy Wood Plans  [5)sng, e plon ne e e

NOTICE
"The purchoser ogrees when

right to build or construct the

o_u_.uo.onvnoon.wono_._:zz_u_u_n:
(the .._uno_.no..w for his/her/its

- One
o 1x4

=== Ty
personal use ony ond’ nol for - 11/2° 1125 III3%E MATERIALS LAYOUT
www.easywoodplans.com 2)" reproduction of the Plan in whole 38, |
yw P ow in %o; c<_o=v. meons ::nn_wooﬁn is ( 406 ) . 8) J LS FIGURE 1
striclly prohibited. Ly~ R=1/2°013) +— d HE
3) Blueprints For The Hondymon U i o[~ -4 1x
sholl not be liable for any willful —_ N o
#78B, 2316-27Ave N.E. misuse or negligent use of this plan, : o w0 D D F
Calgary, Alberta the Project or any tools used to ©lg A of~ [ T | T -1 0ne
Canada, T2E 7A7 construct  the Project or for any N et - 2xa
loss or domage resulting therefrom.” ~ 10ft length
NOTE: Read all directions before beginning
Corpenters glue should be used to 33 1/4" 16 1/4" 16 1/4" 14 1/4"
reinforce all joints
Countersink all screw holes (845) (413) (413) (362) 3 1/8179)
Check that all pieces fit before attaching 8 . [ D E
Dimensions in brackets denote millimeters 2 1/4157 T 2 1/47%(57) 2 1/4757)] 2 1/4157)
Directions 11" , 1" 14 1/2" 14"
279 279 368 356
1) Loy out your material on <9mm so}wno:nnv? os outlined in the material 5 Ho _\nv.. ¢ 3 ) ( G ) ( H )
loyout and cutting dioagrom (Fig 1 . Label ces with o pencil. Be 3/4"(19) 1+ N -
sure to leave o small space belween cut lines to allow for the width of /4°019) (241) PAICID ) m— EACl)) m—
the sow. Alwoys cut on the woste side of the line. Before cuiling, always F
double check your meosurements. The end of pieces G ond H ore miter cuts 125 T—
ot 45 degrees, the long measurements ore given. To shape piece F, rip the m 5/87(16) . °
2x4 to a 1" thick piece, and draw o line down the middle of the 11" side, CHAIR BACK - ELEVATION <>/%0'9) 3/47(19)
set your sow depth disappears to make the curve. Do not sand any closer CHAIR BACK — SECTION _a5
than 3/4" from each end. It would be best to borrow the use of o bandsow 10" 9 1/2"
for this operation. NOTE: follow instruction 2 before starting on piece (254) (241) S
F. Z. °
. J . K 9 251 -
2) Glue ond clomp together pieces D ond E. as well os C ond B, as shown (Fig FAEID) m— ] 27(s1)1 L 1 ,wo.m.\,u. |8
3). Let glue set overnight. ~le
3) Cut notches in legs as shown (Fig 4) using o finishing saw and chisel. - .
Now cul the topers. The legs loper up from the bottom, storting ot o CUTTING DIAGRAM
1 1/4" square, ond ending 13 3/4" up ot a 2 1/4" squore. Only cut the
inside edges (un—notched) for the two taper cuts. The upper taper for the FIGURE 2
back leg is only tapered on one side, the side thot faces the front. The
taper begins on a 2 1/2" squore 2" above the notch, and topers to a 2 1/2" .
x 1 1/4% rectongle ot the lop of the chair. You con build o sow guide B
(lllustration 1) for your table sow to assist in these culs. .
2~
OVER N 0
2 4 _l 1.1/4%(32)
mlo
. |€ i ‘ |~
< | |~ "
N = -2
16 B c -2 o8 of* D £ SAW GUIDE FOR
© = —|~
(1408 ) —I~ ~ CHAIR LEG
16" 1.1/4"(32)
(406 1.1/ 1.1/2" ILLUSTRATION 1
_._ 2 1/4 38" Gm\ 2 1/ o3 Gm\
I _ 1725) (s7) A\wv (57) A\ov
F
25 FIGURE 3
3|~ ALTERNATELY TIGHTEN 'C’ CLAMPS (TOP & BOTTOM)
o H H T2 172" (64) 11/2" 21 \.. AND PIPE CLAMPS (SIDES) TO ASSIST IN KEEPING
| - - 2°(51) = = (38) (57 THE PROJECT FLAT WHILE THE GLUE SETS. A PIECE
“C |~ F= = S ‘y Q OF POLYETHELYENE BETWEEN THE CLAMP BOARDS AND
8} N~ O THE PROJECT PREVENTS THEM BEING GLUED TOGETHER.
- ~|o
: \ [ ~ Ll i
~ o~
N _ 2 X 3 OR SIMILAR SUBSTITUTE _
. ; = 3 1172 - - - -
11/4732) 11/4732) sang) . 3 1 172" (38) =SS
W =&y M 38) .
“(57) (19) ™ 2
2 1/a°(s7) | | - - 1) _ 2 X 3 OR SIMILAR SUBSTITUTE _
-m
8 | |-c . < e o o+ . = p
. e POLYETHELEN!
FIGURE 5 OLYETHELENE
g 1 _\mx %_ _\N.. o ALTERNATE GRAIN DIRECTION OF EACH
2 1/4 3/40 (38, 2 1/4 4" (38 BOARD WHEN LAMINATING A SOLID PIECE
(57) 0f9) (57) ws (EACH BOARD 3" WIDE MAX.)
RICHT BACK LEC LEFT BACK LEG LEFT FRONT LEG  RICHT FRONT LEC SOLID WO0D LAMINATION
LAMINATION LAMINATION LAMINATION LAMINATION DETAIL
FIGURE 4
MATERIALS LIST MATERIALS LIST TOOLS TOOLS
* NOTE: MATERIAL FOR ONE
. CHAIR ONLY Sandpaper Toble Sow Pencil and meosuring tope
DINING ROOM CHAIR - Project #105 Carpenters Glue Jigsaw Three 12" bar clomps
Approx. fifty 1 1/4" #8 flothead screws Stain ond vornish, or oil Finishing Sow 1/16", 1/8" and 3/8" drill bits
Approx. ten 1 1/2" #8 flotheod screws One 16"x16” Pre—lominated loble top (3/4" thick) 1/2" wood chisel Four 6" 'C’ clomps
Approx. four 2 1/2" #8 flotheod screws or 3/4" plywood and edgetape Squore Screwdriver

One 10° 2x4 (1 1/2"%3 1/2%)

Twenty eight wood plugs or 14" of 3/8" wood doweling
Two 8" 1x4 (3/4"x3 1/27)




